Which of the following statement is correct about Jadll ) galls dalaiall dasniall 5 jall a L

the effective role of enzymes in facilitating i el e o Q'Ln.\jh:‘l]
chemical reactions? Sl e il Jgs ]

O They provide energy to t_he reaction Jas g s Jal e 28I Jelil ag
to speed up the conversion of Al ol Al A o
reactants to products. At N se A gl
A vy
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They raise the temperature of the cledt Jal e Jeliill 5 ) jn Aa a b
reaction to allow more reactants to 3 ga (A Lgls gai] AL LaRN A gall e oyl
convert into products. Aadls
O The i i
y activate the chemical . TR .
reactions by increasing the level of S u':“ﬂl ‘_l'bu'_'].' 'L"“m_
activation energy. Aunlrillais g gl 223




Which of the following orders represents the GAY! el Jidd Adull i ) o

secretory pathway of proteins into the SAIal dun Al Aidl 3 i g )
extracellular environment? . o . s

O Rough ER - Golgi apparatus — s el Al A S0 ) ASal
Golgi cisternae — Lysosomes- cell Cilasealh o q,;l s allan O pas
membrane adad glie — aflad
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Golgi cisternae- secretory vesicles Cllasgall - sl allar O pas
—cell membrane el plie Ay AV
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. Which of the following occurs when electrons
flow through the electron transport chain during
cyclic photophosphorylation?

1. Synthesis of ATP

2. Release of 02

3. Reduction of
NADP+ to NADPH
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4. The diagram below shows the oxygen- S g S ane ) abial s )l
haemoglobin dissociation curve. sl sasgll
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Which of the following changes in CO, sl S5 38 5 8 AEN O el e
concentration and pH level would probably be " TR E |8 e e Sl
responsible for the shift from X to Y? Plad oy Jﬁ;ﬁﬁﬂjﬁ;iﬁ\

CO, concentration pH level
G Sl st 6 585 A gaall (5 fluse
A. Increases 22 Decreases =il
B. Decreases <=3l Decreases <=l
C. Decreases <8l Increases 212 3
D. Increases 22 3 Increases 212 »




5. The pedigree below represents the inheritance of Ao il il Y sl A5 5 e slial dalaa &)
a human disease over three generations. sl 45305 pae e

gerlie‘hra:,i.on (1 l
2

generation ([1)
e =
1 2 3 4 5 6 7

= 508G 0BG

Key Aliagl

O Unaffected female lno pé el O
. Affected female Lo el .

[ unaffected male wao e s ]

- Affected male o 55 -
What is the probability that the daughter of 3- il 2 el dnl Jaid o Addlaia) PERN
individual 111-3 would receive the disease trait el e im pall Bss

from her mother?

O [ 25%

O [ 75%

O [ 100%
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The diagrams below show the results of an cre s e Ay ya il M) alial il g ) 4l
experiment in which two microbial species were e llae 85005 8 coat 3l il g Sl
grown in three different treatments. ) o s =
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Which of the following interactions suggests the Aoy jie SlDle eyl sliaf cleladl) e o
|nterc_1ependence relationship between the two i g Sl o s o
species?

O [ Mutualism alalall j
O [ Commensalism aoilanl) j

O [ Predation Ao Y j




